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1.1 2(4x - 5) = 3x 
 8x – 10  = 3x 
 8x – 3x  = 10 
  5x  = 10   

x  = 2   Answer (1) 
 
1.2 A = P(1 + r)n 
 P = 140 000 r = 0.09   n = 2 
 A =140 000X1.09 2 
 A =166,340    Answer (3) 
  

1.3 P1/0 = 100
22
30

  

        = 136.36% 
       = 136%    Answer (2) 
 
1.4 Answer (2) 
 
1.5 Answer (1) 
 
 
1.6 TC  = q2 - 20q + 1000 

 
dq

dTC
 = 2q - 20 

MC = 2q - 20   Answer (3) 

 

1.7 Total weight of 12 trainees is     =12 X 52 
       = 642 kg 

Total weight of 12 trainees and the manager is  = 13 X 53.5 
      = 695.5 
Weight of the manager is    = 695.5 – 642 
      = 71.5 kg    

Answer (4) 



1.7 Total weight of 12 trainees is     =12 x 52 
       = 642 kg 

Total weight of 12 trainees and the manager is  = 13 x 53.5 
      = 695.5 
Weight of the manager is    = 695.5 – 642 
      = 71.5 kg    

Answer (4) 

 

1.8 Adjusted frequency  =     Class Frequency      x  Common Class width 

Actual Class Width   
 

  
75  =     25 x       Common Class width 

  5 
 

 
Common Class width    =   15  

  
     X          = 30 x 15/10 =  45 
   Y          = 15 x 15/15 =  15

   
Answer (1) 

  
 

1.9            
1.1

480
     +  

21.1
480

   +   
331.1

480

         

       = Rs. 1,193,688.95      
Answer (3) 

 
 
1.10     1000 X 0.05  = 50.00 
     250 X  0.03  =   7.50  
        50  X 0.02  =   1.00 
            0  X 0.90    =   0.00 
         The expected value of the prize is (Rs.) = 58.50   

Answer (3)
 

 
1.11     The probability that a family planned to purchase a television.  =0.25   (250/1000)                  
 
1.12     The  probability  that  a family actually purchased  a television  given that  they  had 

planned to purchase a television.    =0.80  (200/250)                                                                       
 
1.13     The probability that a family actually purchased a television.= 0.30       (300/1000)                   
 
1.14     statements is True. 
 

1.15    statements is True. 



(a) R(x) = p(x) 
R(x) = (-2x +500) (x) 
R(x) = -2x2 + 500x 

(02 marks) 
(b) At the break even point, 
  TR  =  TC 
  -2x2 + 500x =  300x + 450 
      x2 - 100x + 2400 =  0 
          (x – 60)(x – 40)  =  0 
  x =60 or  x =  40       (02 marks) 
 Therefore break even quantity is 40 or 60 
 
 (c) Profit function (P) 

P(x) = R(x) -  C(x) 
P(x)  = (-2x2 + 500x) – (300x + 4800) 
P(x)  = -2x2 + 200x – 4800 

(02 marks) 
(d)  

R(x) = -2x2 + 500x 

MR = 
dx
dP

 

MR =  - 4x + 500 
 
C(x) =  300x + 4800 
MC = 300 

 
At maximum profit 
MR   =   MC  
 - 4x + 500 =  300 

4x = 200 
x  = 50        (03 marks) 

No. of units 50 (for the maximum profit) 
(Total 10 marks) 



(a)  
 

Standard Deviation  =       ∑ X2   -     ∑ X    2 

                         n                n 
 
   
  Standard Deviation  =         605          -        61    2 

                            8                     8 
 
        = 4.18 

(03 marks) 
 

(b)   

 (i)      r    =                    n ∑ XY -  ∑ x . ∑ Y 

                     (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

          r    =                      8 x 1279 – 61 x 128 

                 (8 x 605 -612) (8 x 2724 - 1282) 

   

   =  10,232 – 7,808 

    (4,840 – 3,721)  (21,792 – 16,384) 

 

   =      2,424 

    1,119 x 5,408 

 

   =    2,424 

    6,051,552 

 

   =   2,424 

    2,459.99 

 

      = 0.98 
(05 marks) 

 
              (ii)  There is a Strong Positive Correlation between sales and advertising cost. 

(02 marks) 

(Total 10 marks) 



    (a)           b        =          n ∑ XY -  ∑ x . ∑ Y 

                                 (n ∑ X2 -  (∑ X)2 )  
 

            b        =          5 x 27,498 – 373 x 362 

                                    (5 x 29,385 -3732) 
 

   = 137,490 – 135,026 

    146,925 – 139,129 
 

   = 2,464 

    7,796 

      b        =    0.3161 

 

      a        =  y – b x 

      a    = 72.4 – 0.3161 X 74.6 

       a    =  48.8220 

(07 marks) 

Regression line 

  Y = 48.8220 + 0.3161x 

 

(b) When  x = 85  

 Y = 48.8220 + 0.3161 X 85 

     = 75.6870 

(03 marks) 

(Total 10 marks) 

 



(a)  A = P(1 + r)n    A = 107 180,  P = 50 000, n = 6 

107,180  =  50,000  1 +  r    6 

           100 

107,180     1/6 =   r 

       50,000                100 

   

   1.1355 - 1      =    r 

100 

   r  =  13.55%  

(03 marks) 

 

(b) (i)                  (Rs. ’000) 

Years 

Cash Flow 

 
Discount 
Factors 

 

Present value 

 

Present 
value 

 

0 (500)   1 -500 -500 

1 200 1/1.111     or 0.9009 180.18 180.18 

2 180 1/1.112      or   0.8116 146.092 146.088 

3 150 1/1.113      or 0.7312 109.679 109.68 

4 50 1/1.114     or  0.6587 32.937 32.935 

5 10 1/1.115     or 0.5935 5.935 5.935 

 

 

  

NPV -25.177 -25.182 

      

 

(06 marks) 

(ii)  This project is not recommended (i.e. NPV is a negative value) 

(01 mark) 

(Total 10 marks) 

 



(A) 
   6x + 2y   = 40   

3x + 5y   = 40   

  2 6x + 10y = 80   
 

  - 8y   = 40 
   y   = 5 
    

                           Substituting y = 5,in  " 
   3x + 25  = 40 
    3x = 15 
    x = 5 

(04 marks)  
(B)  

q0 q1 P0 P1 q1P0 q0P0 
10 15 1,000 1,200 15,000 10,000 
5 8 2,000 2,500 16,000 10,000 
100 120 500 550 60,000 50,000 
       91,000 70,000 

  

Laspeyre’s Quantity Index = 100
)( 00

01 



qP

Pq

 

   L.Q.I.  =   100
000,70
000,91

  

     =    130%     (05 marks) 

(C) (a) 

x P(x) X2.P(x) 

0 0.2 0 

1 0.4 0.4 

2 0.3 1.2 

3 0.1 0.9 

 

1.0 2.5 

 

 V(x) = ∑x2.P(x) – E(x)2 

  = 2.5 – 1.69 

  = 0.81 



(C) 

x p xp x2p 

0 0.2 0 0 

1 0.4 0.4 0.4 

2 0.3 0.6 1.2 

3 0.1 0.3 0.9 

  

1.3 2.5 

 

 (a) E(X) = ∑xP 

          = 1.3  

(03 marks) 

 (b) Variance = ∑X2P – ( ∑XP)2 

 = 2.5 – 1.32 

  = 0.81 

(03 marks) 

(D)    

 

 

 

 

 

 

 

 

 

 

 

 

(05 marks) 

(Total 20 marks) 

Year Production 

(’000) 

3 year 
moving 
average 

Trend 

2010 70 --- --- 

2011 74 233 77.67 

2012 89 251 83.67 

2013 88 261 87.00 

2014 84 261 87.00 

2015 89 273 91.00 

2016 100 --- --- 




